
She said, ‘’They have not eaten their meals.’’ Change it into indirect speech.

Description

She said, ‘’They have not eaten their meals.’’ Change it into indirect speech.
(A) She said that they has not been eaten their meals.
(B) She said that they had not eaten their meals.
(C) She said that they have not eaten their meals.
(D) She asked that they had not eaten their meals.

Correct Answer is: B

Category

1. English Solved MCQS for All Tests

Tags

1. ‘’They have not eaten their meals.’’ Change it into indirect speech.
2. She said
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